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Consider the conic with polar equation ¥ ="

5-2sinf
[a] Find the eccentricity of the conic. What is the shape of the graph ?
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[b] Find the equation of the directrix.

[c] Find the rectangular co-ordinates of all X — and y — intercepts of the conic.

[d] Find the rectangular co-ordinates of the endpoints of all latera recta of the conic.
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[e] Sketch the graph on the rectangular graph paper on the upper right.




Using only the standard tests and shortcuts shown in lecture, determine if the graph of #* = sin 2@ is
symmetric over the pole, the polar axis and/or @ =
N

SCORE: /6 PTS
% . Summarize your conclusions in the table on the right.
OTE: You should run as few tests as needed to prove your conclusions are correct.
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Consider the graph of the polar equation ¥ =2 —3cos @ . l -2 ) z

[c]

: SCORE: ____/6PTS
(a] The shape of the graph is a/an I mw W7 l__AQ{")i’;l O> T
[b]  Find the rectangular coordinates of all x — and Y — intercepts. (R TCED
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Sketch the graph on the rectangular graph paper on the right.




